Morley Senior High School



YEAR TEN 2024

2024

24 961 10 B

ALL ORDERS MUST BE COMPLETED Online at www.campion.com.au by Friday 15th December 2023 Using "6HGR" as your code

Orders can still be placed past the 'return date' but it may incur a late fee.

PREPACKAGED DELIVERY SERVICE

HOME DELIVERY

Your order will be dispatched for \$8.00 no later than the week ending 19th January 2024 but where possible will be dispatched earlier, if placed on or before the return date of Friday 15th December 2023.

Orders placed after the 15th December will incur a late fee of up to \$17.50. Please allow sufficient time for delivery to occur prior to the commencement of the school year.

Please refer to Campion's website www.campion.com.au for up-to-date information on our trading hours and our full terms and conditions.



Please tick the items required in the box provided \downarrow

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	YEAR TEN					
	ACCOUNTING & BUSINESS					
P55495 P52086	Document Wallet FC Slimpick Orange USB Pocket Flash Drive 32GB - NO RETURNS	1 2		1 1	0.94 11.94	0.94 11.94
	AVIATION					
P52231	Calculator Jastek Scientific (or mathematics calculator can be used)	3		1	30.50	30.50
P55454	Display Book A4 20 Pocket Premium Black	4		1	4.21	4.21
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	5		1	1.40	1.40
P56166	Pencil (HB) Copperplate	6		2	0.47	0.94
	CAREER & ENTERPRISE 1C / 1D Beautone display book - purchase in class.					
	CHINESE					
P50450	Exercise Book A4 64 Page 8mm with Margin Spirax #106	7		1	1.11	1.11
P54147	Exercise Book 225x175mm 48 Page 8mm Spirax	8		2	0.68	1.36
P50434	Document Wallet FC Polydoc Summer Colours	9		2	2.13	4.25
P56092	Pen Ballpoint Cap Type Med Pack of 5 (3Blue/1Black/1Red)	10		2	1.45	2.89
	DANCE					
	No text required - please refer to stationery at the bottom of the list.					
	DIGITAL TECHNOLOGIES					
P55494	Document Wallet FC Slimpick Green	11		1	0.94	0.94
P50450	Exercise Book A4 64 Page 8mm with Margin Spirax #106	12		1	1.11	1.11
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	13		1	11.94	11.94
	ENGLISH					
	No text required - please refer to stationery at the bottom of the list.					
	ESL					
	Students require a paper dictionary in the student's language and Englis Please retain Dictionary from previous year.	h.				
	FOOD TECHNOLOGY					
	No text required - please refer to stationery at the bottom of the list.					
	GRAPHICS/MULTI MEDIA					
P55522	Eraser Plastic Pencil Economy in sleeve	14		1	0.60	0.60
P52001	Pencil (2B) Goldfaber	15		2	0.56	1.11
P55439	Display Book A3 20 Pocket Black Insert Cover (Non-Ref) USB Pocket Flash Drive 32GB – requirement on Stationary list	16		1	8.12	8.12
	HEALTH EDUCATION					
	No text required - please refer to stationery at the bottom of the list.					
	HUMANITIES & SOCIAL SCIENCE					
	No text required - please refer to stationery at the bottom of the list.					

Please tick the items required in the box provided \downarrow

Office Use	Description	ltem No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	INTENSIVE LANGUAGE CENTRE STUDENTS ONLY					
	Students require a paper dictionary in the student's language and Engli Please retain Dictionary from previous year.	ish.				
P50135	Highlighters Pkt 6 Micador	17		1	4.63	4.63
P50114	Notebook A4 120 Page Q595/P595 Spiral	18		2	3.02	6.04
	JAPANESE					
P54147	Exercise Book 225x175mm 48 Page 8mm Spirax	19		2	0.68	1.36
P56092	Pen Ballpoint Cap Type Med Pack of 5 (3Blue/1Black/1Red)	20		2	1.45	2.89
P55487	Document Wallet FC Polydoc Red	21		2	2.13	4.25
	MATERIALS - WOOD OR METAL					
	Students will be required to wear boots / strong footwear / closed toes.		_			
P56428	Safety Glasses Clear Wrap Around	22		1	5.48	5.48
	MATHEMATICS ESSENTIAL LEVEL					
DE0000	Retain the following from previous year:	00	_		44.05	44.05
P52000	Calculator Casio Scientific FX-82AU Plus II 2E	23		1	41.95	41.95
	MATHEMATICS INTERMEDIATE LEVEL					
P04973	Excel Essential Skills Maths Revision & Exam 10 [Kalra]	24		1	18.66	18.66
	Retain the following from previous year:					
P52000	Calculator Casio Scientific FX-82AU Plus II 2E	25		1	41.95	41.95
	MATHEMATICS ADVANCED LEVEL					
P55272	Calculator Casio Graphic CAS Class Pad FX-CP400	26		1	281.95	281.95
	MECHANICAL WORKSHOP					
	No text required - please refer to stationery at the bottom of the list.					
	MEDIA/PHOTOGRAPHY/DESIGN					
P52001	Pencil (2B) Goldfaber	27		2	0.56	1.11
P55522	Eraser Plastic Pencil Economy in sleeve	28	$\overline{\Box}$	1	0.60	0.60
	USB Pocket Flash Drive 32GB – requirement on Stationary list		_			
	MULTI MEDIA SPECIALIST PROGRAM					
P52001	Pencil (2B) Goldfaber	29		2	0.56	1.11
P55522	Eraser Plastic Pencil Economy in sleeve	30		1	0.60	0.60
1 00022	Will only need the following A3 and A4 folder and USB if joining the sub		ப he school fo	•		0.00
P55439	otherwise please use last years folders and USB: Display Book A3 20 Pocket Black Insert Cover (Non-Ref)	31		1	8.12	8.12
P55442	Display Book A4 20 Pocket Black Refillable	32		1	1.83	1.83
1 00112	USB Pocket Flash Drive 32GB – requirement on Stationary list	32		ı	1.00	1.03
P55908	MUSIC Music Rook A4 06 Page Feint & Stayed	33		1	2.47	2.47
. 55566	Music Book A4 96 Page Feint & Staved	33	Ш	ı	2.41	2.41
	SCIENCE No text required - please refer to stationery at the bottom of the list.					
	\(\text{\tint{\text{\tint{\text{\tint{\text{\tint{\tint{\text{\tint{\text{\tint{\text{\tint{\text{\tint{\text{\tint{\text{\tint{\text{\tint{\text{\tint{\text{\tinit{\tinit{\tint{\tint{\tint{\tinit{\tint{\tint{\tinit{\tint{\tinit{\tiin}\tinit{\tiit{\tiint{\tiin}\tiit{\tiin}\tiin{\tiinit{\tiin\tiin}\tiin}\tiin}\tiin}\tiin}\tiin}\tiin}\tiin}\tiin}\tiin}\tiin}\tiin}\tiin}\tiin					
DEEE	VISUAL ART	0.4	_		0.00	0.00
P55522	Eraser Plastic Pencil Economy in sleeve	34		1	0.60	0.60
P52001	Pencil (2B) Goldfaber	35	Ш	2	0.56	1.11

Please tick the items required in the box provided \downarrow

Office Use	Description	Item No.	ltem Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	STATIONERY					
	This Stationery list covers most requirements for all learning areas, however specific stationery items can be found under each relevant ar	ea.				
P55442	Display Book A4 20 Pocket Black Refillable	36		8	1.83	14.62
P55494	Document Wallet FC Slimpick Green	37		8	0.94	7.48
P55522	Eraser Plastic Pencil Economy in sleeve	38		2	0.60	1.19
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	39		8	1.40	11.22
P51353	Glue Stick 40gm Artline Purple	40		1	2.34	2.34
P56094	Pen Ballpoint Cap Type Black Medium	41		2	0.30	0.60
P56095	Pen Ballpoint Cap Type Blue Medium	42		6	0.30	1.79
P56096	Pen Ballpoint Cap Type Red Medium	43		2	0.30	0.60
P56252	Pencils-Coloured 12's Colourush	44		1	3.83	3.83
P56212	Pencil Case 215x125mm Tartan or Similar Medium	45		1	2.25	2.25
P52001	Pencil (2B) Goldfaber	46		2	0.56	1.11
P56414	Ruler 300mm Plastic Clear	47		1	0.64	0.64
P56244	Sharpener Pencil Plastic Double Hole (HQ)	48		1	0.47	0.47
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	49		1	11.94	11.94
P51366	Whiteboard Eco Markers Micador Pk 4	50		1	5.53	5.53
	Read below options & select accordingly		Choose One			
P50547	Earphones Ear Bud With In Ear Drivers and Microphone - OR -	51		1	14.35	14.35
P51464	Headphones Stereo Deluxe Lightweight with Volume Control	52		1	11.05	11.05
	Dood helaw artisms 9 select accordingly		Chassa One			
	Read below options & select accordingly		Choose One			
P56288	Pencil Mechanical Faber 0.5mm with spare Eraser and Leads - OR -	53		1	3.19	3.19
P56166	Pencil (HB) Copperplate	54		4	0.47	1.87

Number of Boxes ticked:	
Postage (Home delivery only)	\$8.00
ESTIMATED AMOUNT DUE (PRICES CORRECT AT 13/11/23)	\$